Joo o9 9 WU Juwgid it sloid

oo WIS

U 0ld ¢ T it 33 0390 30 g il (S L g L) I ¥ 51 (oS3 30 Candll) (o0 Loii> W90 Sy ol RX oo paF 0 g9 40—
S o

1) o B 32 30 o 3948 31 ot 90955 T36 B 35 511 B3 31 il (o0 b Juwgid siluT (5ukid o g i (15— ¥
W 8 9 Jlao 5 SS9

S 3,ylg 4 g0 b JLid 0 i alal 2 U (RX) ol o Ay 595 1 @b 4 PB 3 JB10 8 Sum0 st pliia- Y

Wil 00,397 1> 4 ,b S L B O 390 493 Wil 41D 42 6T G g1 JB10 3 1 Sk s Jlua- ¥

£ (TX) ook 9 g (543 o 0353

Q60 =(NEG) 1* 05l JUao Q60 = 46 i JUwoy (Test Foto)

Q70 = (NEG) Y o o Jbao 53 Q70 = %o kw Jlw s (Test Foto)

Q80 = 1 0 sleds Jliwo 53 (-24V TX) Q80 = A o ko Jlw i (+24V)



£ (RX) 0 8 Jurgid (5o s 099

v

29 Cawg ol

\ o Fo 090 Cawg

a6

‘;uc Wil (0 b @ilo i Cuwilus n
7.

o o e WS Cawg
] i o YU il i b ‘

Q60= o o Jlae 5 |

)
L F 5 o Jlait Q60 = A oylois JUwo i (+24V)

Q70 = & o lows Jlao { Q70=Ao, i Jlwy  (+24V)
Ko W0
S i J2=S1, J1=NO #obo g

Q80 =4 o ylows JUwo 55
S mdald p3=0, p2=1 ko g

Q80 = A ojlois Jlso i (+24V)
\

( Q60 =Y+ oyl Jlso )y  (GND)

~
Q60=" (+24V) A o lads Jlus 5 < Q70=Yo,kiJlws  (GND)
Q70=  (+28V) A oo Jlaoy > ¢— | Q80=Y oslei JUm s  (—24RX)
Q80 = (—24RX) ¥ 6 yboss Jliwo 5

%

i P11 13 © 590 4 99 pLxi! 3 o 33 NC (5 o g3 (0 ALz 2 a9 @

Q60 = ¥ o lod Jlso ¥ )

T4 Y 3 o2 Jlait g

Q70= £ o low JUao
> b
S i J2=NO, J1=5I 2l g
Q80 = # o low Jlno ¥
S pdad P3=1, P2=0 ol g




